Utility Storage Shelf Unit








These instructions and drawings are for a 8’ -3” wide x 16” deep x 70” height shelf unit suitable for the garage, basement, shop, or utility room.  It is all wood construction, utilizes sheet rock screw fasteners, and can easily be dismantled for moving.  This unit is sized to utilize a minimum of building materials and is easily constructed.  Material cost is approximately $65-$75.  It is necessary that this unit be positioned and secured to a wall - it is not free standing.  Although the unit is quite sturdy once assembled and will support most household storage items, it is not intended for extremely heavy loads.  





Design variations:  The above design can also be altered for your specific requirements.  For example, I have constructed units with six shelves using the left over shelf board in the 5 shelf design.  Although this makes for shorter shelf heights, it is adequate for storing cans of paint, garden & pet aerosol spray cans, and most smaller storage boxes.  The base design can  be altered to other depths.  I have constructed units in 18 inch and 20 inch depths to accommodate specific storage items.  The deeper units require additional sheets of OSB for shelf material and are a bit more costly to build.  The height and/or length can be altered to your specific requirements.





Storage Box Tip:  Office paper (10 ream) shipping boxes make excellent storage boxes for just about anything.  They normally have removable lids and are approximately 11-3/4” wide x 18 “ deep x 10 “ high.  If you know someone that works for an office supply company or for a large office that uses lots of “xerox” paper, ask them for some empty paper boxes.





Note:  Assembly instructions, drawings, etc. for this shelf unit are also available on the net at: http://www.geocities.com/capitolhill/7649/stuff.htm








Materials Needed For Construction:





Material�
Size�
Quan.�
Unit�
Notes:�
�
Oriented Strand Board ( OSB )�
1/2“ x 4’ x 8”�
2�
sheets�
�
�
Precut Studs�
2” x 4” x 92 5/8”�
4�
each�
Handpick stock as clear and straight as possible.�
�
Furring Strips�
1” X 2” x 8’�
11�
each�
Handpick stock as clear and straight as possible.  Choose ones that are as close to 


1-1/2” actual width as possible.�
�
Furring Strips�
2” x 2” x 8”�
3�
each�
Handpick stock as clear and straight as possible.  Choose ones that are as close to     1-1/2” actual width as possible.�
�
Sheet Rock Screws�
1-1/4 inch�
+/- 80�
each�
�
�
Sheet Rock Screws�
1-5/8 inch�
4�
each�
�
�
Sheet Rock Screws�
2-1/2 inch�
40�
each�
�
�



(Optional) Material needed to secure shelf to wall:  (use one of these or improvise on your own.)





“L” Bracket w/screws�
1-1/2 inch legs�
2�
each�
(If unit is to be placed against masonry wall.)�
�
concrete anchors & screws (use w/above)�
1 inch�
2�
each�
(If unit is to be placed against masonry wall.)�
�
Sheet Rock Screws�
2-1/2 inch�
4�
each�
(If unit is to be placed against wood wall.)�
�






Assembly Instructions:








Review the “Shelving Drawings” sheet, the “End Section Assembly” sheet, and the “Cutting Instructions” sheet before beginning assembly.


Cut all materials as indicated in the “Cutting Instructions” sheet.


Assemble the two end sections as indicated in the “End Section Assembly” sheet.


With the aid of an assistant, lay the two end sections on a flat floor surface - (preferably just in front of where they will be installed).  Lay the 70” sides that will be the front sides of the shelf on the floor-and space in a position as nearly parallel and square as possible at approximately 8 foot apart 


Install the five rear 1”x2”x8’ horizontal shelf supports to the ends of the 2x2 end supports on the leg assembly (predrill holes to avoid splitting).  Each end of the horizontal shelf support should be fastened with one 1-1/4 inch sheet rock screw at a point on the lower edge of the 2x2.


After all five of the rear horizontal shelf supports have been installed, gently raise the entire assembly into an upright position and slide into the desired installation position.  The unit should be temporarily secured to facilitate the remaining assembly steps


Install the front horizontal shelf supports…again fastening each end with a 1-1/4 inch sheet rock screw at a point on the lower edge of the 2x2.


At this point, check to see that the backside of the unit is flush against the wall…if not, it may be necessary to shim under one or more of the “legs”.


Slide the shelves into place, utilizing factory cut edges to the front where possible.  Screw the shelves in place with 1-1/4 inch sheet rock screws.  (It may be desirable to install only a few screws to hold the shelves in place at this time in case adjustments are needed.  The remaining screws can be installed later.)


Mark the center point of the shelf at the rear center of the bottom shelf.  Position the proper center rear vertical support in place (notched area goes against the rear horizontal shelf support) using a small carpenters square. Fasten the top of the support to the rear horizontal shelf support with a    1-1/4 inch sheet rock screw.  Predrill the bottom of the center rear vertical support at an angle (approx. 50 degrees) and install a 1-5/8 inch sheet rock screw fastening the support to the shelf surface area.   Repeat this procedure for remaining center rear vertical shelf supports.


Mark the centers on the facing front shelves and install the center front vertical shelf support, fastening with 1-1/4 inch sheet rock screws (predrill holes to avoid splitting).  Note: fasten the center front vertical shelf support to the bottom shelf first and check proper shelf height on each shelf before installing screws.


Secure shelving unit to wall with sheet rock screws through the top rear horizontal shelf support or by using “L” brackets screwed to the wall and the top outside of the rear legs.


As an option, you can paint the entire shelf unit or just the legs and the front parts of the shelves.





Feedback:  If you build a shelf unit, let me
